
MB150UC	 �	 Rev. 01/09/08

ASSEMBLY INSTRUCTIONS
Step 1	 Place the Locking Top and Drawer Unit (#1) on its back. Carefully open the Locking 

Top and lay it back against the ground.

Step 2	 Slide chrome legs (#2) into square holes in corners of Locking Top (#1) until bolt holes 
are aligned at top of legs.

Step 3	 Determine on which side of the cart the handle will be mounted. Then, insert two long 
bolts (#7) with two flat washers (#10) into the aligned holes in handle, locking top and 
legs. Fasten nuts (#9) using flat washers (#10) and lock washers (#11).  Repeat this 
procedure for other corners using short bolts (#8).

Step 4	 Slide bottom tray (#15) onto legs and fasten as in Step 3. 

Step 5	 Insert casters (#3, #4) into the hole of plastic inserts (#5).
	 NOTE: Insert the two locking wheels (#3) at the same end of the cart.

Step 6	 Return cart to upright position.

Step 7	 Using the screws (#16) provided, install drawer handles by aligning pre-drilled holes in 
drawers with slots in handle. Tighten all screws securely.

Tools Needed for 
Assembly:

Also Available:
RS8006HDL	 Drawer Handle (for Red, Black or Blue Cart)

RS8006HDLB	 Black Drawer Handle for Yellow Cart

RS8008LK	 Lock with Two Keys

RSRBSLIDEC2	 Clip-On Roller Bearing Slides (One Pair)

RS150UCSD	 Safety Device

MB150UC 
Ultimate Cart

	Item	 Part	 No.	  
	No.	 No.	 Req’d	 Description
	 2	 RSSC7L	 2	 Extra Long Chrome Leg/ea.

	 3	 RS5LC	 2	 Locking Caster/ea.

	 4	 RS5NLC	 2	 Non-Locking Caster/ea.

	 5	 SCPP1	 1	 Set of 4 Plastic Inserts

	 6	 RS150UCBK	 1	 Bolt Kit (Incl.  #7, 8, 9, 10, 11, 16) 

	 12	 MBD150UCB-1	 1	 2-1/4" Replacement Drawer #1* (Red)

	 	 MBD150UCB-1BK	 	 2-1/4" Replacement Drawer #1* (Black)

	 	 MBD150UCB-1BL	 	 2-1/4" Replacement Drawer #1* (Blue)

	 	 MBD150UCB-1YE	 	 2-1/4" Replacement Drawer #1* (Yellow)

	 13	 MBD150UCB-2	 1	 3" Replacement Drawer #2* (Red)

	 	 MBD150UCB-2BK	 	 3" Replacement Drawer #2* (Black)

	 	 MBD150UCB-2BL	 	 3" Replacement Drawer #2* (Blue)

	 	 MBD150UCB-2YE	 	 3" Replacement Drawer #2* (Yellow)

	 14	 MBD150UCB-3	 1	 4-1/2" Replacement Drawer #3* (Red)

	 	 MBD150UCB-3BK	 	 4-1/2" Replacement Drawer #3* (Black)

	 	 MBD150UCB-3BL	 	 4-1/2" Replacement Drawer #3* (Blue)

	 	 MBD150UCB-3YE	 	 4-1/2" Replacement Drawer #3* (Yellow)

	 15	 RS8007	 1	 Replacement Tray (Red) 

	  	 RS8007BK	 	 Replacement Tray (Black)

	 	 RS8007BL3 	 	 Replacement Tray (Blue)

	 	 RS8007Y	 	 Replacement Tray (Yellow)

	 16	 RS150UCTA	 2	 Replacement Tray Assembly (Red)

	 	 RS150UCTABK	 	 Replacement Tray Assembly (Black)

	 	 RS150UCTABL	 	 Replacement Tray Assembly (Blue)

	 	 RS150UCTAYE	 	 Replacement Tray Assembly (Yellow)

PARTS LIST
8mm x 70mm

8mm x 46mm

(8) (16)

(8)(12)

Bolt Kit (#6) included for 
attaching legs and tray to 
MB150UC cart:

10 mm

   or

#3 
Phillips

(2)

(6)

7

8

9 10

1116

* See other side for	
	 operation of safety device.	
	 RS150UCSD



MB150UC	 �	 Rev. 01/09/08

OPERATION OF SAFETY DEVICE
When the lid is fully opened, the safety device will automatically engage to prevent accidental closing. To 
disengage safety device, first ensure both folding side step trays are completely stowed inside box and all 
drawers are completely closed. Then, push the bottom portion of the device until it aligns with the open 
slot and slightly close the lid. Now, once hands and objects are cleared, the lid can be lowered to its fully 
closed and locked position.

NOTE: Do not attempt to close the box lid without depressing the safety device. Permanent 
damage to the lid will result!


